

(تكملة المحاضرة)

①

أوجد التكاملات التالية

$$1. \int \left(\frac{x^4}{2x^2} - \sqrt{x} + 4\sqrt{x} \right) dx$$

$$= 7 \int x^{-\frac{5}{4}} dx - \int x^{\frac{1}{2}} dx + 4 \int x^{\frac{1}{2}} dx$$

$$= 7 \frac{x^{-\frac{1}{4}}}{-\frac{1}{4}} - \frac{x^{\frac{3}{2}}}{\frac{3}{2}} + 4 \frac{x^{\frac{3}{2}}}{\frac{3}{2}} + C = 28x^{\frac{1}{4}} - \frac{2}{3}x^{\frac{3}{2}} + \frac{8}{3}x^{\frac{3}{2}} + C$$

$$2. \int \frac{(\ln x^2)^2}{x} dx = \frac{1}{2} \int 2 \frac{(\ln x^2)^2}{x} dx = \frac{1}{2} \frac{(\ln x^2)^3}{3} + C$$

د.ك
لو ان اشتق $\ln x^2$
هو $\frac{1}{x} \cdot 2x = \frac{2}{x}$

$$3. \int (2+x^2)^2 dx = \int (4+4x^2+x^4) dx$$

$$= 4 \int dx + 4 \int x^2 dx + \int x^4 dx = 4x + \frac{4x^3}{3} + \frac{x^5}{5} + C$$

$$4. \int e^{2x} \sqrt{1+e^{2x}} dx = \int e^{2x} \cdot (1+e^{2x})^{\frac{1}{2}} dx = \frac{1}{2} \int 2e^{2x} \cdot (1+e^{2x})^{\frac{1}{2}} dx$$

$$= \frac{1}{2} \cdot \frac{(1+e^{2x})^{\frac{3}{2}}}{\frac{3}{2}} + C = \frac{1}{3} (1+e^{2x})^{\frac{3}{2}} + C$$

واصل التفاضل

$$5. \int \frac{dx}{(\frac{1}{3}x-8)^5} dx = \int (\frac{1}{3}x-8)^{-5} dx = 3 \int \frac{1}{3} (\frac{1}{3}x-8)^{-5} dx$$

$$= 3 \frac{(\frac{1}{3}x-8)^{-4}}{-4} + C = \frac{-3}{4(\frac{1}{3}x-8)^4} + C$$

$$6. \int \frac{(\sqrt{x}+2)^3}{\sqrt{x}} dx = 2 \int \frac{(\sqrt{x}+2)^8}{2\sqrt{x}} dx = 2 \frac{(\sqrt{x}+2)^9}{9} + C$$

$$7. \int \frac{\cos \sqrt{x}}{\sqrt{x}} dx = 2 \int \frac{\cos \sqrt{x}}{2\sqrt{x}} dx = 2 \sin \sqrt{x} + C$$

$$8. \int \frac{\cos(\ln x)}{x} dx = \int \frac{1}{x} \cos(\ln x) dx = \sin \ln x + C$$

$$9. \int \frac{\sin(\frac{5}{x})}{x^2} dx = \frac{-1}{5} \int \frac{-5}{x^2} \sin(\frac{5}{x}) dx = -\frac{1}{5} [-\cos(\frac{5}{x})] + C = \frac{1}{5} \cos(\frac{5}{x}) + C$$

$$10. \int \sin(\sin x) \cos x dx = -\cos(\sin x) + C$$

(2)

سؤال رقم 16
المشكلة

$$11. \int \frac{\sin 2x}{\cos x} dx = \int \frac{2 \sin x \cos x}{\cos x} dx = 2 \int \sin x = -2 \cos x + C$$

$$12. \int x^2 \sec^2 x^3 dx = \frac{1}{3} \int 3x^2 \sec^2 x^3 dx = \frac{1}{3} \tan x^3 + C$$

$$13. \int \frac{\sec x}{\cos x} dx = \int \sec x \cdot \frac{1}{\cos x} dx = \int \sec x \sec x dx = \int \sec^2 x dx = \tan x + C$$

$$14. \int \sec^2(\sin 5x) \cos 5x dx = \frac{1}{5} \int \sec^2(\sin 5x) \cdot 5 \cos 5x dx = \frac{1}{5} \tan(\sin 5x) + C$$

$$16. \int \left(\frac{\cos^3 x - 5}{\cos^2 x} \right) dx = \int \left(\cos x - \frac{5}{\cos^2 x} \right) dx = \int \cos x dx - 5 \int \frac{1}{\cos^2 x} dx$$

$$= \sin x - 5 \int \sec^2 x dx = \sin x - 5 \tan x + C$$

$$17. \int \frac{dx}{\csc(2x)} = \int \sin(2x) dx = \frac{1}{2} \int 2 \sin(2x) dx = -\frac{1}{2} \cos(2x) + C$$

$$18. \int e^{4x} \sec^2(e^{4x}) \tan(e^{4x}) dx = \frac{1}{4} \int 4 e^{4x} \sec^2(e^{4x}) \tan(e^{4x}) dx = \frac{1}{4} \sec^2(e^{4x}) + C$$

$$19. \int \sqrt{\sin \pi x} \cos \pi x dx = \frac{1}{\pi} \int (\sin \pi x)^{\frac{1}{2}} \cdot \pi \cos \pi x dx$$

$$= \frac{1}{\pi} \frac{(\sin \pi x)^{\frac{3}{2}}}{\frac{3}{2}} + C = \frac{2}{3\pi} (\sin \pi x)^{\frac{3}{2}} + C$$

$$20. \int \tan^3(5x) \sec^2(5x) dx = \frac{1}{5} \int \tan^3(5x) \cdot 5 \sec^2(5x) dx = \frac{1}{5} \frac{(\tan 5x)^4}{4} + C$$

$$21. \int \sqrt{\tan x} \sec^2 x dx = \frac{(\tan x)^{\frac{3}{2}}}{\frac{3}{2}} + C$$

$$22. \int \frac{\sin(2x) dx}{(5 + \cos 2x)^3} = \int \sin(2x) (5 + \cos(2x))^{-3} dx$$

$$= -\frac{1}{2} \int -2 \sin(2x) (5 + \cos 2x)^{-3} dx = -\frac{1}{2} \frac{(5 + \cos 2x)^{-2}}{-2} + C$$

$$= \frac{1}{4(5 + \cos 2x)^2} + C$$

$$\text{ex. 6} \int \frac{dx}{x \ln x} = \int \frac{\frac{dx}{x}}{x \ln x} = \int \frac{\frac{dx}{x}}{\ln x} = \int \frac{\frac{1}{x} dx}{\ln x} = \ln |\ln x| + C$$

$$\text{ex. 7} \int (3x+1) \cot(3x^2+2x) dx = \int (3x+1) \frac{\cos(3x^2+2x)}{\sin(3x^2+2x)} dx$$

$$= \frac{1}{2} \int (6x+2) \frac{\cos(3x^2+2x)}{\sin(3x^2+2x)} dx = \frac{1}{2} \ln |\sin(3x^2+2x)| + C$$

$$\text{ex. 8} \int \frac{\sin 3x}{1+\cos 3x} dx = -\frac{1}{3} \int \frac{-3 \sin 3x}{1+\cos 3x} dx = -\frac{1}{3} \ln |1+\cos 3x| + C$$

$$\text{ex. 9} \int \frac{e^x + e^{-x}}{e^x - e^{-x}} dx = \ln |e^x - e^{-x}| + C$$

$$\text{ex. 10} \int \frac{dx}{1+e^x} = \int \frac{e^{-x} dx}{(1+e^x)e^{-x}} = \int \frac{e^{-x} dx}{e^{-x}+1} = -\int \frac{-e^{-x} dx}{e^{-x}+1} = -\ln |e^{-x}+1| + C$$

$$\text{ex. 11} \int \frac{\ln x}{x} dx = \int \frac{1}{x} \ln x dx = \frac{(\ln x)^2}{2} + C$$

$$\text{ex. 12} \int \frac{2e^{2x} + 1}{e^{2x} + x} dx = \ln |e^{2x} + x| + C$$

$$\text{ex. 13} \int \frac{\sec^2 x}{3 \tan x + 5} dx = \frac{1}{3} \int \frac{3 \sec^2 x}{3 \tan x + 5} dx = \frac{1}{3} \ln |3 \tan x + 5| + C$$

$$\text{ex. 14} \int \frac{\sec(5x) \tan(5x)}{2 \sec(5x) - 1} dx = \frac{1}{10} \int \frac{10 \sec(5x) \tan(5x)}{2 \sec(5x) - 1} dx$$

$$= \frac{1}{10} \ln |2 \sec(5x) - 1|$$

$$\text{ex. 15} \int e^{\tan 10x} \sec^2 10x dx = \frac{1}{10} \int e^{\tan 10x} (10 \sec^2 10x) dx = \frac{1}{10} e^{\tan 10x} + C$$

(('مطلوبه نه نه نه))

(4)

$$1. \int e^{\tan 10x} \sec^2 10x \, dx$$

$$= \frac{1}{10} \int e^{\tan 10x} (10 \sec^2 10x) \, dx = \frac{1}{10} e^{\tan 10x} + C$$

$$2. \int \pi^{\sin 2x} \cos 2x \, dx = \frac{1}{2} \int \pi^{\sin 2x} \cdot 2 \cos 2x \, dx$$

$$= \frac{1}{2} \frac{\pi^{\sin 2x}}{\ln \pi} + C$$

$$3. \int 5^{x^2+6x} (x+3) \, dx = \frac{1}{2} \int 5^{x^2+6x} (2x+6) \, dx = \frac{1}{2} \cdot \frac{5^{x^2+6x}}{\ln 5} + C$$

$$4. \int \frac{dx}{\sqrt{x} e^{\sqrt{x}}} = \int \frac{e^{-\sqrt{x}}}{\sqrt{x}} \, dx = -2 \int -\frac{1}{2\sqrt{x}} e^{-\sqrt{x}} \, dx = -2 e^{-\sqrt{x}} + C$$

$$5. \int (3x+1) \cot(3x^2+2x) \, dx = \int (3x+1) \frac{\cos(3x^2+1)}{\sin(3x^2+1)} \, dx$$

$$= \frac{1}{2} \int (6x+2) \frac{\cos(3x^2+1)}{\sin(3x^2+1)} \, dx = \frac{1}{2} \ln |\sin(3x^2+1)| + C$$

$$6. \int$$